MAT 131 

Handout: ch 4.4 Solving Exponential Equations 


Solving Exponential Equations by Expressing Each Side as a Power of the Same Base
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1. Rewrite the equation in the form 
[image: image2.wmf]N

M

b

b

=

.

2. Set M = N.

3. Solve for the variable.

Solve the following equations.
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**************************************************************************************


Using Logarithms to Solve Exponential Equations

1. Isolate the exponential expression.
2. Take the natural logarithm of both sides of the equation.

3. Simplify using one of the two following rules:
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4. Solve for the variable.

Solve the following equations.  Give an exact answer and then a decimal approximation rounded to three decimal places.
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**************************************************************************************

Using the Definition of a Logarithm to Solve Logarithmic Equations

1. Express the equation in the form 
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This could require isolation or CONDENSING to a single logarithm

2. Use the definition of a logarithm to rewrite the equation in its equivalent exponential form.

3. Solve for the variable.

4. Check for extraneous solutions in the original equation.

Solve the following logarithmic equations.  Give an exact answer only.
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**************************************************************************************

Using the One-to-One Property of Logarithms to Solve Logarithmic Equations

1. Express the equation in the form 
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This could require CONDENSING to a single logarithm on one side of the equation.

2. Use the one-to-one property to rewrite the equation without logs:


If 
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, then M = N.

3. Solve for the variable.  

4. Check for extraneous solutions in the original equation.

Solve the following logarithmic equations.  Give an exact answer only.
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